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2. In a study, researchers use a photograph taken in a public park to examine how people perceive, learn, and
remember information. In the photograph, a woman is standing near a man who is seated on a park bench.
The wornan appears to be shouting at the man.

Participants in the study are exposed to the photograph for ten seconds and then are shown, each for ten
seconds, several other photographs of people interacting. When all the photographs have been shown,
the participants are asked about what they saw in the “public park” photograph. A significant number
of participants describe the man as being the aggressor in an apparent disagreement with the woman.

Describe how each of the following concepts helps explain the perception of these participants. Be sure
to begin by defining each concept in psychological terms.

schema

retroactive interference
representativeness heuristic
confirmation bias

framing



Question 2

This question proved to be very difficult for all but the
most capable students. The typical student showed

limited recall of the concepts in this question and
consequently was not able to apply them to interpret
the results of the experiment. On the other hand,
capable students (as defined by scores on the multiple-
choice section and question 1) were able to recall these
concepts, give clear and accurate definitions, and
correctly apply them to the experimental results. The
question also differentiated among these top students
(students receiving scores of 4 and 5 on the exam),
Faculty consultants were immensely impressed by the
clarity and cogency of these top essays.

Most of the concepts on this question deal with
cognition. The results of the question suggest that many
teachers do not give adequare weight to this section of
psychology. It is hard, otherwise, to explain their
students’ difficulty in recalling the frequently and
widely discussed concepts of schema and retroactive
interference. The area of cognition has been called a
“third wave” in the history of contemporary psychology

Question 2 Scoring Guidelines

and has revolutionized our understanding of the science
and its application to the world we live in. It might
behoove more teachers to pay at least as much attention
to this area of psychology as they obviously do o
behavioral and biological orientations.

One final note: The fact that a concept is not in
every textbook, is in a chapter that is not always
covered, and/or is not in older textbooks is not a cogent
argument against testing students’ knowledge of the
concept. It is vital that AP teachers keep up with major
developments in psychology and go bevond the text-
book in their efforts to acquaint their students wich
these new developments. Of course, many AP teachers
do nor enjoy the luxury of being able to use new, up-to-
date textbooks each year. In such cases, they should
continue to press their administration for the purchase
of the most recent textbooks, or supplement older
textbooks with more recent materials, so that the
students in their school district are able to compete
successfuily with students from school districts thar do
provide their AP students with current textbooks.

Definition for cach term is 1 point and each application is 1 point; they are not dependent on each other.

The application must be identified with the correct term and linked back to the experiment.
®  Definition is an odd number point and application is an even number point.
W The first four concepts are from the subject’s point of view and the last concept is from the experimenter's

point of view.

Definition {1 point):

Schema — Points 1 and 2

A framework used to organize information.

Concept

template
structure
framework
set plan
model
expectations
representations
blueprints
set of ideas
mental set
network

OR

Process for input of
information

organizing
interpreting
incorporating
ordering
shaping
predicting
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Not acceptable:

W Terception alone will not do it (e.g., “the way you perceive”).
B Mind set, preconceived ideas, patterns of thought.

B Example is not a definition.
]

Qutcome only — understanding, how I see the world, knowledge.

Application (1 point):

Participants have formed the expectation that the male is the aggressor. Outcome is acceptable in the application.

_ ' Retroactive Interference — Points 3 and 4
Definition (1 point):
Information that is presented gffer the presentation of information to be remembered interferes with or blocks old
informartion. '

The definition of retroactive interference can be phrased in terms of information withous specific reference ro memory

processes.

M Disruptive effect of new learning on old information.

B  New information distorts old information.

Application {1 point):

The photographs that were presented after the photo of the “public park” might interfere with or block the derails of

the “public park” photo.

Representativeness Heuristic — Points 5 and 6

Definition (1 point):

A rule of thumb for judging the likelihood of events based on how well something fits a prototype. That is, how
similar are people (or an individual) in the event to prototypical views of such people?

Defining the representative heuristic as a concept, conclusion, or reasoning process is acceptable. These are presented,

respectively, in the boxes below.

®  “rule of thumb,” or “problem-solving strategy,” or “cognitive shortcut” may stand alone.

OR

@ 3 judgment, decision, solution, or conclusion based on how well an observation or event fits one of the

following: a prototype, schema, cultural norm, or stereotype,

OR
B iudeine. decidi i normally experiences in most situations as
J; ug:;:lg’ o::::)rmgr:):e}s:il:g,in typically related to the issue of male-
l.g .gh h p g generally female aggression depicted in
e Wit What one usually the photographs.
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Not acceptable:
B References to perception or perceptual experiences alone.
B References to memory, remembering, or recall (e.g., “remembering things that stand out the most”).

B Individual is representative of a population or group (i.e., the representativeness heuristic does not refer to how
an individual may or may not be representative of a population; this is not representative sampling).

Application (1 point);

Aggressive men/non-aggressive women are seen as more “typical.” An aggressive man fits this prototype, an aggres-
sive woman does not. Hence, participants conclude that the man is the aggressor or that the woman is not the
aggressor. Participant chooses, decides, judges, perceives, or selects a strategy which leads to the conclusion that the
male is the aggressor (or that the woman is not the aggressor as depicted in the photograph). Answers musr relate

the error to this study and context.

Confirmation Bias — Points 7 and 8
Definition (1 point):
Attending to informartion that supports one’s preconceptions. You pay attention to information that confirms
your preconceptions and/or ignore information that does not,

B Tendency to search confirm ideas.
for information or support our beliefs.
cues that go hand in hand with preconceptions.
OR

W Tay attention to information that confirms our bias.

OR
. i interferes with
B [gnore or reject information —
. . prejudices . .

that is contrary to beliefs new information.
blocks ‘

or that -
distorts




Not acceptable:
B Something that confirms our bias.

W [dentifying expertmenter bias.

Application (1 point);
Participants pay attention to the aggression in the “public park” photo, but do not pay attention to the fact that the
woman is the aggressor because that does not fit their preconceptions.

Framing — Points 9 and 10

Definition (1 point):

The way a question is posed (how it is “framed”) can alter judgment, decision-making, and recall,

posed alter
. o framed .
W The way an issue or question is can change the participant’s response.
asked influence
presented affect

N

Not acceptable:

M Procedural manipulation (e.g., changing sequence of photographs, changing the location of the experiment),

'] Body language or other nonverbal communication.
Application (1 point):

The way the experimenter asks the question or describes the procedure will influence the participant’s description of
the photo. The open-ended question may allow preconceived notions to have maximum effect.
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Sample Student Responses for Question 2

Student Response 1 — Excellent
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Student Response 2 — Good
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Commentary

This essay earned a score of 8. All definitions and applications are correct except those provided for retroactive
interference. Application points are earned by the discussions of a relationship between experience with
aggression and schema development, the use of a prototype, confirmation of existing beliefs, and the influence

of the way a question is asked.
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Student Response 3 — Fair
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Commentary

This student’s essay earned a score of 5. Schema, retroactive interference, and representativeness heuristic are
" . defined correctly. Application points are awarded for the discussion of how a schema makes one interpretation
- more likely than another and how a belief will influence the memory of the situation depicted in the
*photograph. :
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Student Response 4 — Poor
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Response 4 earn daso of?. Bothp mts awar ddfo retroa ctive interference, The definition at the end of
the first paragraph is correct. The apphcatron point can be awarded ei th for the example embe dd d within the
definition or for the earlier des ptonofhwth photographs shown after the o original photograph interfered

with the memory of it,
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